
Př. 1: Umocni pomocí tabulek: 

18,52 = 

78,92 = 
0,2692 = 
0,0492 = 
5,762 = 
72,12 = 

Př. 2: Umocni zlomky: 
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Př. 3: Odmocni pomocí tabulek: 

√681 = 

√973 = 

√269 = 

√81796 = 

√477481 = 

√857476 = 

Př. 4: Odmocni pomocí tabulek: 

√85700 = 

√13000 = 

√7900 = 

√209000 = 

√50500 = 

√8150000 = 

Př. 5: Odmocni pomocí tabulek: 

√0,25 = 

√5343,61 = 

√0,69 = 

√42,1201 = 

√6,23 = 

√480249 = 

√0,0289 = 

√42,26 = 

√0,326041 = 

√810 = 

√90,0601 = 

 

Př. 1: Umocni pomocí tabulek: 

18,52 = 

78,92 = 
0,2692 = 
0,0492 = 
5,762 = 
72,12 = 

Př. 2: Umocni zlomky: 

(
8

−12
)
2

= 

−(
−5

7
)
2

= 

−(
8

3
)
2

= 

+(−6
1

5
)
2

= 

(7
3

4
)
2

= 

−(−3
1

4
)
2

= 

Př. 3: Odmocni pomocí tabulek: 

√681 = 

√973 = 

√269 = 

√81796 = 

√477481 = 

√857476 = 

Př. 4: Odmocni pomocí tabulek: 

√85700 = 

√13000 = 

√7900 = 

√209000 = 

√50500 = 

√8150000 = 

Př. 5: Odmocni pomocí tabulek: 

√0,25 = 

√5343,61 = 

√0,69 = 

√42,1201 = 

√6,23 = 

√480249 = 

√0,0289 = 

√42,26 = 

√0,326041 = 

√810 = 

√90,0601 = 

 

Př. 1: Umocni pomocí tabulek: 

18,52 = 

78,92 = 
0,2692 = 
0,0492 = 
5,762 = 
72,12 = 

Př. 2: Umocni zlomky: 

(
8

−12
)
2

= 

−(
−5

7
)
2

= 

−(
8

3
)
2

= 

+(−6
1

5
)
2

= 

(7
3

4
)
2

= 

−(−3
1

4
)
2

= 

Př. 3: Odmocni pomocí tabulek: 

√681 = 

√973 = 

√269 = 

√81796 = 

√477481 = 

√857476 = 

Př. 4: Odmocni pomocí tabulek: 

√85700 = 

√13000 = 

√7900 = 

√209000 = 

√50500 = 

√8150000 = 

Př. 5: Odmocni pomocí tabulek: 

√0,25 = 

√5343,61 = 

√0,69 = 

√42,1201 = 

√6,23 = 

√480249 = 

√0,0289 = 

√42,26 = 

√0,326041 = 

√810 = 

√90,0601 = 

 


